Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Explain the various steps in deCISIOIl makmg in detail. - (10 Marks)

Define planning. Explain its types in detail. (10 Marks)

Write a short note on “fun onal areas of management”, (10 Marks)
List out the role of a manager. (' (10 Marks)
Explain pnnmpies of organization” in detailue (15 Marks)
Write a short note on the concept of management by exception. (05 Marks)
b, Y e
Explamﬂthe followmg leadership styles in short
t (it) Democraticz== (06 Marks)
What are'the findings of Hawthrone expenments‘? Explam‘: (07 Marks)
Explain “Maslow’s Hierarchy of Néeds Theory” with the help of hlerarch dlagram
(07 Marks)
(10 Marks)

ICICI bank is offermg a Rs.30 lakhs homemloan toa person to. buy a new apartment at a
1nterest rate of 7 5% compounded annually ThlS amount should: be repaid in 15 yearly equal

i) Equal payment compo nd amount, F = A[@_:t
i

Equal payment swpresent worth éniount, P= A{ (15 Marks)
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* Write a short note on (1) S.I ()C.I (05 Marks)

i,

A person wantéd to buy a motorbike to his son. Upon down payment the motor bike would
cost him Rs.55,000 while in thesinstallment scheme, he has to pay an EMI of Rs.900 for 10
years at the rate of interest of 14%, to pay an EMI of Rs.900 for 10 years at the rate of
interest of 14%, compounded monthly. Suggest the person which scheme is more
economical. A (10 Marks)
What do you meant by “Rate of Return”? Explain its types in short. (10 Marks)

(1) Economic hfe (ii) Accounting life
(iii) Ownership life of service life (iv) Asset’s life (10 Marks)
=
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‘Megha’ electronics is considering the purchase of aﬁgﬁ*«e@w\\ﬁ“rogrammable circuit to improve

its product quality. The equipment has a first cost of Rs.85,000 and the salvage value is

predicted to be Rs.6000 after a service life of 5 yedts. Maintenance and operating costs are

expected to be Rs.8000 for the first year of opémt;p'ﬁ and increased by Rs.1500 per year for

each additional year of use. Using an integpstﬁr%tg of 10%, determine what annual savings

must be obtained through the use of this ;:gﬁyifiment to make it economic w I§3ustiﬁable.
L% why (10 Marks)
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Estimate the weight of the following component which is made. of 6061 aluminium alloy
whose density is 2700 kg/mz" If%zi% costs Rs.320 per kg of 3@6()(?1'?111 the market, what is the
2 % ™y

estimated cost of the compongg%ﬁ%%f;
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4 % X < . (10 Marks)
Explain “IDLING TIME” in deta (10 Marks)
Explain various causes of ;Qé‘pggg:ciation in detail. oY (10 Marks)
A CNC machine costing, ’Rs.22,00,000 1S e§tinjf1 ( ; 'years after which its
salvage value is estimated.to be Rs.2,00,000.“§? ind: oA
(i) Depreciation during 3™ year by fixed “’ﬁe%céntage methodgess,

(i) Book valu/c\kqf;the machine after 2 years by sum of yeaf%d%gits method. (10 Marks)
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